6. Problem 18 - 

You will need the model for this problem from problem 17.  It is provided below:
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a) Solve this graphically by providing the extreme points and the corresponding z-values.  Indicate the optimum solution.

b) How many acres of farmland will not be cultivated at the optimal solution?  Do the Bradleys use the entire 100-acre tobacco allotment?

c) What would the profit for corn have to be for the Bradleys to plant only corn?

d) If the Bradleys can obtain an additional 100 acres of land, will the number of acres of corn and tobacco they plan to grow change?

e)  If they decide not to cultivate a 50-acre section as part of a crop recovery program, how will it affect their crop plans?

